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1. Background

This contribution provides some general text proposal for TR38.817-02 [1].  In the last meeting, dynamic requirement in the TS38.104 was corrected due to incorrect calculation for wanted signal. It could be noted  in the existing TR38.817-02, the methodology for calculating the wanted signal is also incorrect, therefore we share some updated explanation on how this requirement is defined. 
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[1] R4-1804041,Draft TR 38.817-02 v0.8.0, Ericsson. 
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TEXT PROPOSAL:
7.3
Dynamic range

Dynamic range is specified as a measure of the capability of the receiver to receive a wanted signal in the presence of an interfering signal inside the received BS channel bandwidth. In this condition a throughput requirement shall be met for a specified reference measurement channel.
FRC

NR supports multiple numerologies as well as increased number of BS channel bandwidths, e.g. up to 100MHz for frequency range 1. To better balance the spec complexity and test permutation, it was agreed to define the following FRCs for dynamic range requirement. The SNR @95% maximum throughput point for each FRC will be used for the wanted signal calculation. 

7.3-1: fixed reference channel and SNR points for dynamic range

	FRC
	BS channel bandwidth [MHz]
	Subcarrier spacing [kHz]

	G-FR1-A2-1
	5
	15

	G-FR1-A2-2
	5
	30

	G-FR1-A2-3
	10
	60

	G-FR1-A2-4
	20
	15

	G-FR1-A2-5
	20
	30

	G-FR1-A2-6
	20
	60


Interference level

Receiver dynamic range requirement is to ensure that the base station can receive high throughput also in the presence of increased interference levels. It measures the effects of base station receiver impairments. While measuring these effects, uncertainty due to the receiver’s own thermal noise floor should be minimized. So the interference level should be increased by a certain amount of margin to mask the receiver’s own noise floor. From a scenario of view, it is reasonable to adopt the similar amount of interference signal margin for NR as for E-UTRA.  The mean power of interfering signal is defined in the following method: 
PIntf = -174dBm/Hz+10*log10(NRB*SCS*12) + NF + 20

Where 

NRB is the transmission bandwidth configuration NRB  defined in TS38.104 Section 5.3.2;
NF is noise figure of NR BS receiver in dB, where 5dB is assumed for WA, 10dB for MR ,13dB for LA; 


Wanted signal

The mean power of the wanted signal is defined in the following method: 
Pwanted= = -174dBm/Hz+10*log10(NRB*SCS*12) + NF + 20+SNR+IM

Where 

NF is noise figure of NR BS receiver in dB, where 5dB is assumed for WA, 10dB for MR ,13dB for LA; 

IM is implementation margin reserved for BS manufacturer in dB; For high MCS level, IM is assumed to be 2.5dB; 

NRB depends on the FRCs defined for dynamic range requirement; 
SNR is the value to satisfy the 95% throughput of measurement channel; 
*********************End of change*****************
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